T 40 | abed

(ebed 1xeu uo sjuswea.by pue sainjeubis YMH4/L0Q)

A2 n2Y) 255 TR0 Y TAC ﬂ
10 Alunog syy oy (BRI pezuoyiny - / mEWZ Etn_\_o @%r
Fl- 1z \.,m \,Qu\t«)\,@. o % \m\: . \\
8led W7V oy JeubigTepumpuen

pauinbay suoN [X] [eroiddy puswwosay jonog || lerouddy puswwossy [A]

“u[e1d1jo Aunoo pejebejep sy) Ag mojaq pajou se uoneoydde ywusd PiEs UO uonoe spusWWoo8sl pue Ajunod paubisiapun au Jo
1ysusq sy o} ainul |leys uonenodsues] Jo Juswipedsq emo| sy} 0} Bujuunt uisiay) sbuyepapun pue SjuBUSA0D U} JO |[B 1By} UORIPUOD
uo uonepodsuel] Jo juswpedsq emo| sy Aq penoaxa Jwiad snoge sy ul psipoquis sjuelb ayy ul suiol Aunoo paubisiepun sy,

(@349IND3Y SI NOILOY ALNNOD ‘AVM-40-LHOIY ALNNOD S3ISSOYI HHOM A3SOd0Hd 4I) NOILOV ALNNOD

V1 eloueipuj \
10 AjID 9y} 10} B0 pazuoyiny \J\\\&\%N MWMN\\ SweN Jlld Jo adA |
= L - - — 0/
BrE PRD W PO, | FET s e
palinbay suop _H_ leArouddy puswiwodssy JoN og D [eacsddy puswiwoossy &

u[e1owo Ao pajehajep ayy Ag mojeq pajou se uoieoydde ywied pies uo uoioe spuswwooal pue Ao paubisispun ayj jo
1yausq sy} o} ainui Jleys uonenodsued | o Juswpedsg emo] sy 0} Buluuni uieiay) sBuiyelspun pue SJUBUSAOD 3y} JO [|e }ey} UoIpuoD
uo uopneuodsuel| jo juswpedsq emo| ayr Aq penoexe jwiad anoqe auy; ul paipoquis syuedBb syy ul suiol Ayo paubisiapun sy,

(@3YIND3Y SI NOILOY ALIO ‘ALID AILYHOJHOONI NY NIHLIM SIMY0M Q3SOd0Yd 4I) NOILOV ALID

\w\\\b N\\Wm 7 9\\.@\\ .T.\VQQM\ saninn redroruniy ejouerpuj

1eq (8dA[ 10 Juli4) 12UMQ 40 BWeEN

s x0v8y s 27d S i& I[N qog
“Dapp 237791 alnjeubls uaby (8dA 40 JuL4) Juaby Jo swep

uofjepodsuel] jo juswpedsg
emo| 8y} jo Aoljod uonepowwosde Ayn syy pue 1t Aq spige o} oaibe Pue ‘suoisinoid s1 pueisiepun ‘juswsalby Siy) peal aney |

juswaa1by pue ainjeubis juesijddy

“Remybly yo apis nog 9ui uo (uonels AemybiH) 0L+18¢c Pue (#isodayiy) \kﬂ | SR \m W 0}
(uoneys Aemybip) GL+19¢ Pue (#1sodspi) m \m\b HD W\\ wou) Buieq se payeso| Ajjeouneds
alow s| pasodoud HIoAA “(aul] pue| Jay3o Jo ‘aul Alunoo ‘Ayo) VI ‘ejoueipuj Wolj (Uonosuip)
1som (Sapiw) lé pajeoo| Ajleiaush g ‘oN AemybBiH uo M obuey

NO/ dm] §C ‘LT UONOSS Ul pajedo] s| aA0qge paquasap se yiom pasodoid ay |

NOILVOOT 3LIS XH¥OM

("syuswauinbai ueld pajie3sp jo [eniwqgns 104 A91jod UOIEPOWWO0Y
AN uonenodsuel| jo Juswiiedsg emo| Juslino 29g) “0jeIaY paydene ued pajelep 8y} U0 UMOYS sk Pajedo) aq ||eys pue

'S[RIap A10d 10) $90-69.1 "V9TO-69.1. “TT0-69.L. "170-69.1, STUIMEIP 99
mata uepd Y1 10J €1 d-8S68H NUL T1d-8S68H SUIMBIP 298
~A18SS209U J1 SANT UMOP pue $3]0d AU BUI[EISUT S[IYM T AME] 10 Z0T-D1, :uerd jonuod RICAR]

(2 YSOV '9¢€--1) pasueLie A[[enuague) - K[[EOIIAA AITA [RUIIOU AN 69 9911 |
(SHH "pazIuBAles ¢ sse[o “puens £, g/¢ [091s) doy axim pjatys auQ
1$1019NpU0D)

"MOY LOd 0198 3q [[im sajod ua g,
TMOU LOA UM Z6 AN JO YInos K[Jeutpniiguo] unt AN 69 18 UOISSISUET) JLII0A]3 10] 3[qd PRaYIaA()

:JO 1SISU0D |[BYS Uone|BISUl 8y |

*S/MOJ|0) S PaqLOSapP Iayiny pue
SJUSWUoBYE SU} UO p3|IE}op Se UoRe][ejsUl AN € JO LoEPOWILL0I. By} Joj Aem-jo-JybL AemyBiy Sjels auy ulylim Jajus o) pajsanbai Agaiay s enoiddy

A3 LYAOWWODJY 39 OL NOILVTIV.LSNI

SCI0S Vi ejouerpu] S uoIxng ynog 111 "9¢¢ xog ‘0'd

8poD dizZ | alels umo 1/AN0 Sselppy 192lls
vr¥6-196 (S16) sanimn [ediomunyy ejoueipuy

1X3 JagquwinN suoyd awepN Auedwo)
1Xg lagquinN suoyd aweN ise’ 3IPPIN sweN 1sdi4

(ANVdINOD HO IYNAINIANI) LINVOIddY.
> N 2 Y7/
. : A E-~(NCLDO~XSHV
aleq co:m_QEoo\cm_mmL_me_ B \ _ _ 49QquInN Gmwomn_ 10d
TIBEG L] o R AL R /A

Aluno) JaguinnN AemybiH Jaquinn juwsd

ATINO 3SN ININLHVHIA Hod

NOILVAOWINODJJV S3LLITILN HOd AVM-40-LHOIY AVMHSIH TP -
40 3SN ¥04 LNIWIFAOV ANV NOILVIITddY  Loperiodsuen 50 weuniedey méo_ﬁw%




T 0 g abed
"}sanbas uodn 21gqnd ayj o3 papincid
3q Aew saidoo pue uopewou) dlqnd si paysiuiny uoljewuoyu] “uoiesdde sy 4o [BIUSP Ul JNSaI [IIM uonewloyul |le spinoid o} ainjieq -uonesidde
3y} Jo |elusp Jo [erosdde sulwielep 0} uojepodsuel | Jo Juswpedaq sy} Ag pasn aq [IM WO SIY} UO paysiuiny uoljewlolul ay] :juawsjels alnsojasiq

‘san|ioey

S} 10s}04d 0} abueLIE 0} SWely dul SIY} UIyIM 9|qisuodsal 34 ||eys JOp|oH HWiad 8yl ‘Juswealbe usjum Jo nwiad Aq juswpedsq

8y} Aq panoidde Ajsnoinaid se uoieso] Ayjin e 4o 183} ua) aq [im ylom pasodoid ay} uaym Aem-jo-jybu paiinboe Aimau Jo Bugsixe Jayys
UO om sduBUS]UIEW JO UONONISU0D pasodold Aue jo soiou sinoy Jybie-Apo} jses) je Jop|oH Nuliad ay) anib [jeys Juswyuedsq ay] ‘¢
"abed siy} Uo UMOYs si sWeu asoym uosiad JoBjU0D By} 0} SpEW 4 [jeys s31jou pieg -Aem-jo-ybu Aemybiy sy uo soueusjuiew
sunnol wiopad 0} J0 UORONIISUOD Liels O} Uolualul S} JO daf0u sinoy ybis-Auoy Juswuedaq ay) anib o} seaibe Jap|oH Hwiad 8yl 'z

"Yiom pasodoud ayj Jo ealE 8y} Ul Pa}ea0| AN UMOUY JBY10 AUk J0EJU0D

Os|e ||eys JspjoH Hulad ay} ‘Aem-jo-jybLl Aemybly ay; ui siom Bujuuibaq siojeg UonEABIXS 910494 sinoy (8¥) WyBle-Auoy sajin
punoiBiapun Aue jo uoieao| ayj }sanbal pue (6868-262-008-1) 18D-2UQ eMo| Bulejuoo o} |qIsuodsal si Jap|oH Hwiad 8y ‘|
uonedlyioN *a

‘'safewep |ejuapioul

1o [enuanbasuod ‘|efoads ‘poauipul ‘ssauisng Jo spoid Jo Ssof 0} puaixa AJjIge]] Yans [[IM JUSAS OU Ul PUe ‘SN pabewep Jiedal o}
asuadxs Joaulp ‘s|qeuoseal ay o} paywil S! ‘saakojdwa pue seousbe sy ‘ejels syl Jo Aljigel) ay) ‘9SIMIBYJ0 10 L0} ‘JOBIIUOD Ul JSYIBUAA
"asuadxa yans jo asneo ajewixoid 9jos sy} sI ‘seakojdwe 1o sapushe sy ‘aels sy Jo aouabifau uaym Ajuo Aem-jo-jybu Aemybiy syy
40 Aouednaoo pue esn sy ul Jep|oH Jwiad ay} Aq pawunoul asusdxa 1o} s|qel aq [Im ‘seakojdws Jo sslousbe s)l ‘emo| Jo a1elS ay| ¢

"Hwiad siy} yim soUBpIoID. Ul Pa)Jed0] JoU ale Saljijioe) ayj 4l 1o

"€°d Jequinu uone|ndis yum SoUepIodD. Ul PAIOU U] SeY JSp|oH Hwiad § Aemybly pres uo suonelado soueusjuiEW JO uoI}oNJISU0D
Aue Aq pauoiseaoo Auedoid sJap|oH Jwiad sy} 0} sebewep 1oy Aljiqisuodsal ou swnsse Juswyedsq sy} pue emo| jo aiels ay| ‘7
“Remybly o11qnd sy} jo Aouednaoo 1o asn s,19PJOH WIS Y} YjM UOIOBULOD Ul IO JO Jno Busle ‘ainjeu

lansosjeym jo asuadxe pue Ayjigel| |je pue Aue woly pue ‘spuewap Jo swiepo ‘sebewep ‘sass0] 10} ‘Ajinba ul Jo mej Je suns ‘uoijoe

jo sasnea |je pue Aue woyy ‘ssakojdwa pue sajousbe syl ‘emo] Jo S)e}s ay} SSajWIRY SABS pue AJuLISpU! [[BYS JOP|OH Hwiad ayl i
fupgen o

‘juswdinbs Uo[NIISU0I 10 Jlel} 0}

pasodxa uaym sauwy ||e je [asedde z ssej) 201 ISNY Jeam [[eys Aem-jo-jybu Aemybiy sy ui jpuuosiad Ile ‘8002 ‘¥g JaquianoN Jayy ‘9
"‘Aemybiy pies uo olye Jo UOROBLSIP JO 0} SoUsaUUI

wnuwiuiw ssned o} se Jsuuew e yons ul uo palied 94 [leys uonelesul AJjiin ples 1o 9oueUSjUEW PUB UOKONIISUOD Sy} Ul suonesadQ 'g
"19pJOH Hwad 3y} Ag paysijdwoooe aq |jeys 3om sy} jo uois|dwos uodn [erowsal Jisy) pue

suBis jo uswaoeld |eulblo 8y “Jap|oH Hwiad 8y} jo Aljqisuodsal sy ate Buibbeyy pue juswaoeld ubls Buipnjoul 043U JWen IV b
‘s|eoujo Juswpedsq Aq uoneulwexs Joj sswi [[e e sYs qof 8y} uo sjqejieae o4 [leys juwuad panoidde ayrjo Adoo y ‘¢

"uoljeuuiolul jeuoljippe Joj g9y J8jdeyd ‘emo| Jo apo 89S “JoLsIp abeulelp By} wolj

uoissiwlad Jo sjuswases Aiesseoau Aue uiejqo pue sBuissolo asay} 8}e00| 0} Ajjiqisuodsal s,Jop|oH JIWIad Sy} s1}] “Buissoud jouysip
abeulelp e J0 U0ed0| YoES JO Jap|oH Julad 8y} BuisiApe oy AjjiqIsuodsal ou sawnsse Juswpedsq ay| Aiessadau Ji joussIp abeulelp
SU} Wolj Juswsses Ue uiejqo o} Jap|oH Jiwiad ay} Jo Ayjiqisuodsal ay; si )i ‘Aem-jo-yb Aemybiy au ur ylom Aue Buiuuibaq siojeg
"Ao1jod uolepowwoady AN suswpeda uaund

SU} Yiim SoUBPI0dDE Ul 9 |leys uonedldde siy} Aq pasanod uone|jelsul Ajjin Sy} JO 8dUBUSJUIEW PUE UOIONIISU0I ‘UoiEd0| Y| °|
@oukeUdjUIB\ PUB UOI}INIISU0) 'Y

‘Juswaaibe siy} Jo sjuswalinbal pue suolpuUod sy} Jo Junodde uo ‘suosiad Jo ‘uosied Aue Aq paulejsns aq Aew jey} sasso|

10 sebewep Aue jo ssajw.ey Juswiedsq sy} pue Mo Jo a)elS 8y} aAeS 0} seaibe os|e Jop|oH NWIad 8yl "PIOA pue JInu }sanbai

pue juswaesibe siy} Japual [|eys paje)s swel swi sy} Ulyim pue pajeindys se paquosap }om sy buianisuod ui 1o suonendis ay;
Aq apiqe o} 19p|oH Hwiad 8y} jo Hed sy} uo ainjieq ‘jsenbal pies 1o} panieoal si [enoidde Juswpedaq ajep sy} woly Jeak auo uiyim
sjuswauinbal [efoads pue suoneindis ay; yum soueldwod uj pasodold se pajsjdwos aq (jeys pwiad SIY} Ul paqLIasap yiom ay|
"J3p|oH

lwisd ayj Jsutebe passasse aq ||im uoponisuod BuiAjdwos-uou Jo [enowsl i sjels sy} Aq pawiopad aq 0) pasnes yiom Aue 101509
SYL "Hwiad 8y} Jo UOYEIOAS JO ‘PRINSSE SI 2OUBIIAWOD [JUN JUSWASINGIS) UOIJED0|al Jo Buipjoyyym 1o suonesado uononisuod Apmn
40 UMOP-INYs 0} 8snEeD palapisuod g Aew ‘Jusweaibe Jo ywiad ‘Aojjod sjuswpedaq sy} jo swiia} 8y} jo Aue yum soueljdwod-uoN ‘g
‘suoljesado saueuSjuIBW JO UOIONIISU0D Aemybiy Aq pasnes

Kem-jo-jybu Aemybiy psysijgelss sy uiypm sajioe) ay} jo sjuswisnipe ainny Aue oy s|gisuodsal AjIny aq |jleys JapjoH Jwiad 8yl ‘Z
"8|qeoiidde suonenbal Jo sme| Jayjo Aue pue juswipeds ayy

Jo suone[nBal pue ss|nl ||e ‘sadinosay [einjeN Jo juswpedad Sy} ‘UOISSILWOY 82J3WWOY aJelS BMO| aU) JO SAAIDSIIP pue suole|nbai
‘suole|nBal pue sa|nu asiyouey BMO| [elaps) pue ‘slels ‘Ajunod ‘lediolunw [e20] Jo sjuswalinbal ayj 198w [jeys uole|elsul 8y ‘|
Jesauang y

‘Hwiad siy} Jepun uianob [jeys obed

SIy} uo paysi| se sjuswalinbal [eroads 8soy} pue suopendiys Buimojjo) sy} Jey} Guawpeda( se o} pallayal Jsyealsy) Juswpeda( BMO|
8y} yum saalbe (Jop|oH Jwiad sy} se 0} pallajal Jayeuralay) ‘easual| Jo Jepjoy ywied ‘quesydde ‘uonelodios ‘Auedwod Aynn sy

SLNINTIHADV
617005 | VI uojLreyn 1S W08y TTHIT
3p0) dIZ | ske1s umo/Au9 SSaIppy j83lis
9S0S-VLL-1¥9 "H'd ‘SISWWOoS 103§
Jaquinp auoyd (sweN juld Jo adA]) uoslad joejuo) 1 0Q |e207
10} apew 3q ||eys Aem-jo-ybu Aemybiy sy} uo ssijIAldE SdUBUSIUIBW JO UOONSUOD LE)S 0} UOIJUS)UI JO 930N

el

SO0, A0 : &/ ﬁ\e uaLg,0 3[ed
aleq -ainjeubis anjejussalday Jouisiq AemybiH pszuoyiny
P10-Y10T-116 -J8qWNN Hwliad paiuag uoyeaddy [ | panoiddy uonesddy [X]
NOILOV TTVNId NOILV.LYOdSNV¥L 40 LNINLNVdId
aleq ainjeubis anljeluasalday YAAHL pazuoyiny
pasinbay suoN _H_ |leaoiddy puswiwoaay jJoN odg D lerolddy puswwossy D

(@34IND3Y NIHM) NOILOV NOILVHLSININGY AVMHOIH Tvy3ad34

Jwuad siy} o} Adde |leys sjuswalinbal |eioads Buimojjoy sy} ‘mojaq suolrendis 8y} 0} uolippe Ul - sjuawalinbay [e1vade

AINO 3SN INJN1HVdIa 4O




T39-021
T r 694V TANCENT STRUCTURE, T2 £OIDUCTOR
b M o MATID  UNIT  CESCRIPTION
| 3 18601 CA INSULATOR, 1I0RZ LINC POST, 6¢ KV, GAIN BASC, CLAMP TOP, 1225 LB RCL
5'-0" 2 3 16192 (A CLAMP, TRUNNION, CLAMP TOP,265-T2 — 477-T2 ACSR
14 (1sY1e 3 99299 KOT USED
l ~ \/\ 4 4 16616 EA [NSULATOR, DOWN LEAD, FIBERGLASS, 5/8" X 127
5 2 10701 [A GRI®, DEAD-END. PREFORMED, 1/0 ACSR. AAC, AAAC
P}WW“"’ G 2 Fl CONDUCTOR, #1/2 ACSR, BARE
—~_] / 49 73 SIAPLE, GROUND WIKE, 2 X 5/8"
{77 8 3 FA ROIT, DOUALE ARIAING, 5/8" GA'VANIZED, VARIOUS | FNGTHS
~ 9 12 FA WASHER, SQUARE, FIAT, 5/B" GAIVANIZFD
0 5 EA LOCKNUT, 5/8" GALYANIZED
" 2 EA EYE NUT, 5/8" GALVANIZED
12 6 EA WASHER, TWIN COILS, 5/8"
13 3 EA COMIIECTOR, AL COMPRESSION, H-TA®, VARIOUS SIZES
12 6 12024 Ea EOLT, MACHINE, 3/4" GALVANIZED, \ARICUS LENGTHS
15 6 12506 EA WASHER, SCUARE, CURVED, CALVANIZED, 3/4"
16 6 12404 EA LOCKNUT, 3/4" GALYANIZED
17 6 12516 EA WASHER, TWIN COILS, 3/4"
18 1 10402 CA ROD, GROUND, 5/8" X 10, COPPERWCLD, THRCADED SCCTICHAL
19 1 10790 A ROD, ARMOR, 3/8" 11S/CHS
R 20 l 10406 EA CLAMP, 5/8" GROUND RGD TO #8 - 1/0 CU
21 8 10410 FT MOLDING, GROUND WIRE, 1/2" PLASTIC
22 59 eseer T WIRE, 4 SOLID COPPER, SD, BARE
i\)’) 25 1 10168 EA SUPPORI, SHIELD WIRE, SIDE MOUNTED, 5/8" X 12"
2z 1 10521 CLAKP, SUSPENSION, 3/8" EHS (WIIH ARMOR ROD)
75 ? 10761 FA DAMPER, VIBRATION, SPIRAI, 0.377-0.461"
,%
/TOPSOIL
T
e VIEW A-A
\\LCRUSHED ROCK NOT TO SCALE
BACKFILL
I DATE  05-16-12 SCALE: ’ REV
PRELIMINARY DESIGNED Pt NONE A
NOT FOR CONSTRUCTION e ouG No
S B N ) (5 APPROVED  WWE 62V TANGENT STRUCTURE T2 CONDUCTOR
Rev | owE [uveso|orm | sen | CESCRIPTION . APPROVED  ARP T69'021




1?4]

12

\
=
T

/—ropsou
|
1

L

T69-022
59KV, LIGHT ANGLE, GUYED,
WATID
16501

TTFI ary
1 &

2 3

3 4

< 25
o 2

H =

S

05722
16592
1090
16511

T2 COHDUCTOR

UNIT
A

SRuny

oo
g

Sgupeopoopogoeoy

DESCRIPTION

[NSULATGR, HORZ LINF POST, 69 KV, GATN BASF, CIAMP TGP, 1225 LR Ral
CLAMP, TRUIINION, CLAMP TOP,266-T2 - 477-T2 ACSR

INSULATGR, DOWN LEAD, FIBERGLASS, 5/8" » 27

CONDUCIOR, #1/0 ACSR, BARE

EYE HUL, 5/8" GALVANLZED

BOLT, DOUB.E ARMING, 5/8" GALVANIZID, VARIOLS LENGTHD

WASHER, SQUARE, FLAT, 5/37 GALYANIZED

LCCKNUT, 5/8" GALVARIZED

WASIICR, TwIl COILS, /3"

STIP, DCAD-CND, PRCFOPMED, 1/@ ACSE, MC, AT

CONNECTOR, AL COMPRESSION, H-"4P, YARIOLS SIZES

BOLT, MACKINE, 3/4" GALVANIZEC, VARIOLS LENGTFS

WASHER, SQUARE, CURVED, CALVANIZED, 3/4"

LCCHFNUT, 374" CALVAKIZED

WASHER, TWIN COILS, 3/¢"

WIRZ, f#4 SOLID COPPZR,
STAPIF, GRGUND WIRF,
MOIDING, GROUND WIRF, 1/2° PIASTIC

RCD, GROUND, 5/8" % 1@°, CCFPERWELD, THREACED SECTIONAL
CLAMP, 5/8" GRCUND RCD TO /8 - 1/0 Ccu
SUPPORT, SHIELD WIRE, SIDE MOUNIED, 5/8" x 12"

CLAMP, SUSPENSICN, 3/87 EHS (WIIH ARMOR ROD)

DAMPER, VIBRATION, SPIRAL, ©.327-0.461"

PLATE, POLE EYE, 6"

BOLT, MACHINE, 7/8", VARIOUS LENGTHS

WASHER, SQUARE, CURVLD, GALVANIZED, 7/3"

LCCKNUT, 7/8", GALVANIZCD

WIRE, GUY, 7/16", 7 STR, CLASS A GALVANIZED, EHS STEEL

GRIP, GUY, PREFORMED, 7/16"

INSULATOR, GUY, FISERCLASS. 54", 36,000 POUND, 3/4" PINS, ONE ROLLER
THIVBLE CLEVIS, €2,000 PCUND

ROLLER, GUY, 13/16" x 2-3/8" DIA, 3/<" PIN

ANCHOR, 8-10-12" TRIPLE KELIX

ROD. FXTFUSICN, 1-1/2" X &'

RCD, ANCHOR, 1 1/2" ATAPTSR WITH TRIPIF FYs

GUARD. SUY

RCD, ARMOR. 3,'3" HS/ZIHS

—]2'-0" |~
i -
ol I ‘T‘
N -] L
Q27 19) .1 1 ~~-CRUSHED ROCK
,-\) = (N BACKFILL
32 It
0 69kV LIGHT ANGLE-GUYED
e T2 CONDUCTOR
S pxe DATE 05-16-12 SCALE: REV
Bl DESIGNED P&E NONE A
DRAWN MRB DWG NO
A _|07-30-13 | PAC | URG | JAT [ORGIUL DESGL APPROVED JWE 69V LIGHT ANGLE-GUYED T2 CONDUCTOR
Rev | DMTE | DESG [ CFIR | APp DESCRIPTION [APPROVED ARP. T69'022




SECTION A-A

SECTION B-B

(1207501
ANINY

YRy

26A
69 I’V COUBLE CEACEND, MEDIUM ANGLE, BISECT GUYING, 3 DCWN GUYS

TTFM oty MATID  UNIT
1 6 16600 FA
Pl f 10947 EA
3 6 1¢500 En
3 1861 EA
3 16789 EA
i W 14194 EA
2 2 1891 EA
= 2 12592 Ea
@ 2 12760 ca
114 2 14205 [
1 1e201  EA
12 12095 EA
13 12507 EA
14 12405 EA
15 6 12004 EA
16 6 12506 EA
17 6 17404 FA
a 6 17510 FA
10 2e0 05707 EA
20 18 25722 EA
b2 5 16502 EA
22 2 12901 EA
23 5 16511 EA
4 1 18252 EA
28 d 10272 EA
26 ! 12262 ca
7 1 18352 ca
7 25041 F
59 12552 EA
1 14220 EA
1 16402 kA
1 10408 EA
8 1240 FT

\ CRUSHED ROCK

BACKFILL

SPECIFY VARIABLE MATERIAL BY:

CONDUCTOR BOLTED DEADEND: 6-T@06xx
CLAMP, TRUNNION CLAMP TOP: 3-T@02xx
SHIELD WIRE BOLTED DEADEND: 2-T@06xx

NESCRIPTTON
INSUILATOR, SUSPFNSION, FOIYUFR, 65 KV,
SOCKET EYZ, & 3/8" EXTENSION LIMK
C_AMP, DEADEND, SEE VAR MAT LIST

INSULATOR, HORZ LINE POST, 63 v, GAIN BASE, CLAWF iOP,

CLAMP, TRUNHION, CLAMP TOP, SES VAR WAT LIsT
CONNEZCTOR, COMP SLEEVE, JUMPER, VARICLS
CLEYIS-EYE, 7/8" OPENING, 3-2/3" C—=C
CLAMP, DEADEMD, SEE VAR MAT LIST
DAMPLR, VIORATION. SPIRAL, SCL VAR MAT LIST
COMNZCTOR, AL COMPRL
PLATE, POLE EYE, 6"
BOLT, MACHINE, 7/8", VARIOUS LENGTHS
WASHER, SOUARE. CURVED, GALVANIZED, 7.8"
LOCKIUL, 7/8", GALVANIZED

SIZES

IO, N=TAF, VARIOUS SIZLS

BOLI, MACHINE, 3/4" GALVANIZED, VARIOUS LENGIHS

WASHER, SQUARE, CURVED, GALVANIZED, 3/4"
LOGKHUT, 3/4" GALVANIZED
WASHER, TWIN COILS, 3/4"

WIRE, GUY, 7/16", 7 STR, CLASS A GALVANIZED, EHS STEE.

GRIP, GUY, PREFORMED, 7/16"
INSULATOR, GUY, FIBERGLASS, 547,
THIMBLE CLEVIS, 40,020 POUIID
ROLLER, GUY, 13/16" X 2-3/8" DIA, 3/4" IN
ANCHOR, 8-10-12" TRIPLE HELIX

ROD, EXTENSIOh, 1-1/2" % 5'
ROD. ANCHOR, 1-1/2" sDAPTCR WITH TRIZLE ot
GUARD, GUY

WIRE. 44 SOLID CCPPER, 3D, B4RE
STAPLE, CFOUIID WIRE, 27 X

COMNECTOR, COPPER CRIM®IT, F& SCL-f4 STR TO 42 SOL-4+ STR

ROD, GROUND, 5/8" X 12, COPP-RWELD, IHREADED

CLAMP. 5/8" GROUND ROD 10 8 - 1/¢ cu
MOLDING, GRGUND WIRE, 1/2" PLASTIC

SECTIONAL

69kV DOUBLE DEADEND,

MEDIUM ANGLE
BISECT GUYING

5,000 20UND, 3/47 PHIS, ONE RCL;ER’

DAMPER VIBRATION, SPIRAL: 2-T004xx 3 DOWN GUYS
! 3§ P & B_ENGINEERING GO, DATE  04-18-13 [SCALE: REV
T oV scd wawsts e oo DESIGNED ~ P&E NONE A
I DRAWN MRB DWG NO|
A o%=1-13 | FhE | vn | AE (o e APPROVED  JWE
L REV DATE | pESG | 0F1R | ape DESCRIPTION JAPPROVED ARP. T69'026A




169 -064

BOKV, LIGHT ANGLE, LINE POST FRAMING, LAMINATED WOOD POLE

-9 i ITEM MATID  UNIT DESCRIPTION
| 1 i 16601 €A INSULATOR, HORZ LINE POST, 69 KV, GAIN BASE, CLAMP TOP, 1225 LB RCL
56 \® 2 16013 EA SHIM, TO ADAPT GAIN BASE INSULATOR TO FLAT, XX* BOLT SPACING
3 16180 EA CLAMP, TRUNNION, CLAMP TOP, SEE VAR MAT LIST
4 16610 Ea INSULATCR, DOVIN LEAD, FIBERGLASS, 5/8" X 12"
5 05023 FT CONDUCTOR, #1/8 ACSR. BARE
1 5 12453 EA EYE NUT, 5/8" GALVANIZED
1 e 7 12103 EA BOLT. DOUBLE ARMING, 5/8" GALVANIZED, VARIOUS LENGTHS
(3= (Gs) - ] 12503 EA WASHER, SQUARE, FLAT, 5/8" GALVANIZED
a 12403 FA LOCKNUT, 5/8" GALVANIZED
10 12569 EA WASHER, TWIN COILS, 5/8"
6'-0" 1" 10701 EA GRIP, DEAD-END, PREFORMED, 1/0 ACSR, AAC, AAAC
12 14205  EA CONNECTOR, AL COMPRESSION, H-TAP, VARIOUS SIZES
13 12004 EA BOLT, MACHINE, 3/4" GALVANIZED, VARIOUS LENGTHS
14 12504 EA WASHER, SQUARE, FLAT, 3/4" GALVANIZED
| i . 15 & 12404 EA LOCKNUT, 3/4" GALVANIZED
12° rjm e 16 6 12510 EA WASHER, TWIN COILS, 3/4"
o 17 50 05041 FT WIRE, #4 SOLID COPPER, SD, BARE
] 18 40 12550 EA STAPLE. GROUND WIRE. 2" X 5/8°
19 8 10410 FT MOLDING, GROUND WIRE, 1/2" PLASTIC
6'-0" 20 1 10402 EA ROD, GROUND, 5/8" X 10/, COPPERWELD, THREADED SECTIONAL
21 1 10406 EA CLAMP, 5/8" GROUND ROD TO £8 — 1/0 CuU
22 1 10167  EA SUPPORT, SHIELD WIRE, SIDE MOUNTED, 5/8" X 14", FLAT BASE
23 1 10540 EA CLAMP, SUSPENSION, SEE VAR MAT LIST
X . 24 2 10760 EA DAMPER, VIBRATION, SPIRAL, SEE VAR MAT LIST
W‘M‘ﬁ’ 25 ) 12780 EA ROD, ARMOR, SEE VAR MAT LIST
_®
FOUNDATION AND
e
g =
e | |/
) =
@“’\g)—/z’ SPECIFY VARIABLE MATERIAL BY:
LT d ARMOR ROD 1-TOO1XX
CLAMP, TRUNION, CLAMP TOP 3-TOO2XX
SUSPENSION CLAMP 1-TOO3XX
DAMPER, VIBRATION, SPIRAL 2-TRD4XX
X F ENGINERRING DATE 04-02-13 SCALE: ' REV
PRELIMINARY 1O S s o DESIGNED ~ P&E AS_NOTED A
DRAWN DAW oW K6
NOT FOR CONSTRUCTION JAPPROVED JWE B9%V MEDIUM ANGLE, T2, LAMINATED WOOD POLE
APPROVED ARP T69'064




— . F
19'-0
a'—g" 4 gt ——|
—
__________________________________________________________ v I
4 1 L
| / —
| 0 -
NG F OUND RO
T PULLING IRONS OPPOSITE y ! A A = 1" ORENENG FOR (GR 0
¢ EACH DUCT ENTRANCE 1 4'-0
] ! 8" suMp 8" sumMp
! \ i / SLOPE FLOOR TO SUMPS \
1 ' / \
i ! g'hg~  GROUNDING PLATE 4 O O h
| I (BURNDY YGFxx OR |~
i | EQUIV) BONDED 10—
! | STRUCTURAL STEEL
i i (2 PLACES)
i i
i 1 1" OPENING FOR GROUND ROD
1
: : .
|
' 1
| | [ |
PLAN AT BOTTOM
MANHOLE #2 — LOCATIOHM #02UG ,|_|
4
4 B
MANHOLE FRAME & COVER REMOVABLE TOP SLAB KEYED TO \WALLS
NEENAH R—1754-A
OR EQUIVALENT
| T— T— 1 [
| ING TRON (T\“}P_[gl\ )
PULL ‘ AL
25" 5 /— A D —o—
2 | It
a o 12" X 48" BOX QUT . % ~
— 127 X 48" BOX OUT 2 ; . 12 X 48" BOX .
FOR CONDURT FOR CONDUIT ENTRANC | i Sos ot PULLING [RON
ENTRANCE ~N 4 ENTRANCE
5'-8"
MIN HEADROOM —
b o=
| = |—{3" (1vPicaL)
| -t K- - —o—
r PULLING IRON 5
i
R | [7 | | [ [ [ |
GROUNDING PLATE SECTION BB
(BURNDY YGFxx OR SECTION C-C =
EQUIV) BONDED TO SECTION A-A
STRUCTURAL STEEL LOOKING EAST) FABRICATION NOTES
(4 PLACES) ( 1. MANHOLE DESIGN SHALL BE SUITABLE FOR INSTALLATION
ALONG STATE HIGHWAYS AND VITH REQUIREMENTS OF AASTO H-20.
2. PROVIDE PULLING EYES (CONDUX 08381301 OR EQUIVALENT) AND
MANHOLE FRAMES & COVERS AS NOTED. GROUNDING PLATE
EMBEDDED IN
3. PROVIDE KNOCKOUT AREAS AS NOTED, KNOCK OUT AREAS SHALL RE CONCRETE AND
VOID OF REBAR AND SHALL HAVE MO MORE THAN A 3" THICKNESS BONDED TO REBAR
CF CONCRETE.
4 PRE-CAST SUPPLIER 1S RESPONSIBLE FOR STRUCTURAL DESIGN OF
MANHOLE
5. SEE SPECIFICATION PARAGRAPH 17.0 IN SECTIOM 167222 FOR GROUNDING PLATE DETAIL
ADDITIONAL REQUIREMENTS
T INDIAROLAMUNKIPAL UTETIES DATE 01-08-12 [SCALE: REV
PRELIMINARY ! * GRSTANED  DAE INDIANOLA MUNICIPAL UTILITIES AS NOTED B
= _ ? DRAWN DAY HIGHWAY 92 DOT PROJECT y
NOT FOR CONSTRUCTION I R R S — g’“ APPROVED ~ JWE [PREFABRICATED MANHOLE CONSTRUCTION, LOCATION 02UG 8958 0‘%62“00
I Riv | oaie |ves|oFR | are DESCRIPTION B . . wee  |APPROVED  ARP E 5 s




360+30

360+30

361464

CL ON

@361+14

PLACED 88" FROM

ANCHOR TO BE
PLACED 88’ FROM

N

G = e

HWY 92 361+83

|95’
ANCHOR TO BE
QVERHEAD WIRES

TO EXIT ROW
@361+81

CL ON HWY 92
@361+24

ANCHOR TO BE
PLACED 88" FROM
CL ON HWY 92

SRS e

TEMPORARY POLE
88" FROM CL ON
HWY 92 @362+0@7

e e S S

ON HWY 92
@364+85 E
NS S

sy S S P

.

100’
365+77
360+00 361464 95’
|95’ 365+80
|95’
361+78 366+44
I N S
S S
-
B W — -
T
B t ; —e

S

©

Lol
"9}
O
M

S — — |
1 y |
SHWY Y z |
LAMINATED WOOD
POLE 88' FROM CL 4' DIAMETER HOLE
ON HWY 92 TO BE DUG TO POLE 155" FROM CL 5 4
@361+83 PLACE POLE - = POLE 92" FROM CL
ON HWY 92

TEMPORARY EASEMER
CONSTRUCT ENTRAP

@361+38
365+10Q :
fi60 |160
(S e e
Q 25 50"
P & E ENGINEERING CO. INDIANOLA MUNIGIPAL UTILITIES DATE 01-08-12 SCALE: REV
PRE Ll M I NARY g POWER SYSTEM ANALYSIS AND DESIGN V DESIGNED P&E INDIANOLA MUNICIPAL UTILlTIES AS NOTED B
! ol DRAWN RMB WAY 92 DOT PROJECT
NOT FOR CONSTRUCTION || | £ ¢5 55 53 oo e i e £ |eeroe e HWY 2 PERMIT DRAWINGS BYE o
A 7-16-1 MB Ul Carlsla, 1A 50047 = 1 /
biezo zause REV DATE | DESG | DFTR | APP DESCRIPTION Flectric » Network Services * Water APPROVED ARP E8958'P1 2




37&
|

HWY 92

375

B =

POLE 93' FROM CL
ON HWY 92
©369+67

e P

— ot s g

e s,

o S S S

Agk---—.rv:.»r--n-~.~—+--.~-<»»-c.-.y«-.--.7-.--‘.__&-.._..»-

POLE 95" FROM CL

ON HWY 92
@372+05

-

EASEMENT TO
T _ENTRANCE

POLE 97" FROM CL
ON HWY 92
@374+50

g

et e

A

Sra——

e e S

A

374+52
[100’

374453

|1@5’

375+25
|125'
L e e e}
: o
¢ P & E ENGINEERING CO. INDIANOLA MUNICIPAL UTILITIES DATE 01-08-12 SCALE: REV
PRELI M I NARY %E POWER SYSTEM ANALYSIS AND DESIGN V- DESIGNED P&E IND'ANOLA MUNIC'PAL UT"—ITIES AS NOTED B
2455.50 Offca; 515.089:3033 DRAWN RMB HIGHWAY 92 DOT PROJECT
—05- ! E x :515.055 DWG NO
NOT FOR CONSTRUCTION L A L AT T s Carive 50047 Hebna é APPROVED  JWE HWY 92 PERMIT DRAWINGS E89 58 P 1 3
Eevn REV | DATE | DESG | DFTR | APP DESCRIPTION Flackic » Natwork Sarvins o Water APPROVED ARP =




377+64
|95’

381+75

100’
377+64

190

380

: | HWY 92 |
POLE 100" FROM CL POLE 96' FROM CL ‘
ON HWY 92 ON HWY 92 POLE 940NFRH$VI\¢ (9:5
@377+R’\ ©380+35 ©383+50
A
POLE 125’ FROM CL
ON HWY 92 380435
@377+68 == [100’
376+5 ﬁZ;& 378+50
100’ 37746 [110
[129° 377+69
e EASEMENT FOR UTILITIES
377+04
375+70 1105 PropR /W 3;77J’r7@
[125' [129
—_——— e~
0 25 50

¢ P & E ENGINEERING CO. INDIANOLA MUNICIPAL UTILITIES DATE 01-08-12 SCALE: REV
PRE Ll M I NARY %& FONER SYSTEM ANALYSIS AND DESIGN .H. DESIGNED P&E INDIANOLA MUNICIPAL UTILITIES AS NOTED B
245S.5th Office: 515-989-3033 DRAWN RMB HIGHWAY 92 DOT PROJECT
—05-— E ] ED OVERHEAD LINETYPE x X 3 DWG NO
NOT FOR CONSTRUCTION || [+—te=-i o {2 L i oo 0 D s @ |roe e Y S PERUITERAINGS E8958-P14
icin 22130 REV DATE DESG | DFTR | APP DESCRIPTION Flackic » Natwork Sanioas » Watar APPROVED ARP =




384+45
|145°

CONDUIT CABLE TO

BE INSTALLED 130
FROM CL -\

387+27
[151

CABLE EXITS ROW

133" FROM CL
@387+28L X

MANHOLE TO BE
INSTALLED 125
FROM CL @384+72

CONCRETE ENCASEMENT '

(3) 5" PVC DUCTS WITH CABLES FOR
ELECTRICAL TRANSMISSION AT 69KV ,
MINIMUM DEPTH 48", 18" HORZ SPACING ;l
STA. 384470 |

\

\

CONCRETE ENCASEMENT I

BORE PIT TO BE
DUG 50" FROM CL
@384+72

387+28
|105°

390

_ —_— . _HWY 92 m—— S e — ==
' ’ ! '! |
- == =] .; | , 3
r
l
BORE PIT TO BE W .
DUG 50’ FROM CL
©384+68 ';”l
| POLE 94' FROM CL 44ﬁ1¥__"_4—\\\\\\\\\\\
CONCRETE ENCASEMENT %"3’8':"1’;@92
“u s
NN X
ANCHOR TO BE
PLACED 90° FROM
CL ON HWY 92
@385+35
386+50
ANCHOR TO BE fioo
PLACED 96’ FROM 388+20
CL ON HWY 92 o
©@385+25 .
8+50
ANCHOR TO BE TEER
PLACED 96' FROM
CL ON HWY 92
@385+15
e e ™
@ 25" 50’
] | I |
¢ P & E ENGINEERING CO. INDIANOLA MUNICIPALUTILITES  |[DATE _ 01-08—12 SCALE: REV
PRELIMINARY E POWER SYSTEM ANALYSIS AND DESIGN .H. DESIGNED P&E INDIANOLA MUN'C]PAL UTIL'TIES AS NOTED B
2455.5h Office: 515-989-3083 DRAWN RMB HIGHWAY 92 DOT PROJECT
e v . ; : DWG NO
NOT FOR CONSTRUCTION | |"o [e-o-is e [ o ooy oo e oo, LR @ precoe e HIY 92 PERIIT DRANINGS E8958-P-15
|~ Rev | pate [oesc [ oFir | app DESCRIPTION ik o Naflinth a2, e APPROVED  ARP ==




wW20-1

48" x 48"
g |
1 1
= <
=3 =h
° @ ) o ° °
P P . ) . | P
= — — T T T 1
| Shoulder Line -——/7— Spacing=C
T
: 5 devices fe——— Length of Work Area ™ — G20-2A
48" x 24"
| | |
_______ -
W20-1
48" x 48"
When a pavement edge drop-off exists, installa SHOULDER DROP-OFF
sign.
Posslble Contract Item:
No pavement edge drop-offs greater than pavement depth will be allowed Traffic Control
during non-working hours.
Shoulder edge drop-offs shall be mitigated according to Article 1107.08.L2 ’ lowa Department REVISION
(EeRD of the Standard Specifications. £ of Transportation 7 |10-15-13
T1C-202
TrafficSigh SPEED (1) When the length of a pavement edge drop-off is 1000 feet or less, the STANDARD ROAD PLAN o
@ temporary fillet requirement of Article 1107.08 of the Standard
42" Channelizer LIMIT A B c T Specifications does not apply. Reduce channelizer spacing to 40 feet. REVISIONS: Modifled clrcle note 1.
(mph)
| Work Area a5 B0 o A0 00 @ For work areas less than 200 feet long, use channelizers spaced at 20 @W\ S i AR
or less foot centers or use a vehicle with an amber revolving light or amber APPROVED BY DESIGN METHODS ENCINEER
- 700' 350" 80' 200" strobe light.
Direction of Traffic 40-45 @ 8
50 or greater 1000' 500' 100'(1) 200' SHOULDER CLOSURE

(ONE LANE)




